a5t 11

) 3 — T Z %]
:llzﬁ 8_1/500 " : MRt REKAEMRRIE(202101)
i S=1/50 TEuRE

gﬁééi”a;ﬁgﬂﬁﬂéﬁwTassﬁﬁtb\esTE
) B BAE#%HIE 450 PEP L=256m (/&) T E &%

WEE 650 HIVP L=243m P1 FEE. BrER
MARRE m] i
gis 4 300ADIP i gEs 6 300ADIP < iH HAREE AT TR 500 ER 12 A-2, 3 B—3, 4
N 9 s 2 ~ 1.20 1.50

130 EE IS

SF34E(20214) 3H
Bk AxZE] Rt | BB [BREE]

&
KAz
L&

\

1.20

o
Q]
-~

BAET L T/KER BT EHKEE KR
HER | [ 78 &

-'| o
o @Y
R A0
~ 100
© (B

i

Caty

L?J"

O

O]

~

=

g

| RERAES A TA 1 |

Zov7&% 1200, 1202, 1203

WK

ITEM=R

g
0]

EXxEHRRIE 6300 GXDIP L=263m

EXEHRIF ¢50 PEP L=256m

120 EASHRIF 4150 GXDIP L=20m

/\\

(4]

=]

=]
Ooo|o|>»

0.50 MAkRREIFE MO 1%
T BMEE #4300 ADIP  L=263m

—]
g ol g W= $50 HIVP L=243m
qf 2
ﬁ - WEE 150 ADIP L=20m
f:(" MARME R O 1%
— - \ $300 GXDIP
5 \ MEE 6
S [~ TA 645
I | o
_ é \ H \ '\
— \ ® \ ~—r
ol BESX 6 1S0ADIP (< £
E o 3 CIN ‘ ©
|0 s EEEX¢5UHI\/P‘\1§*E e & Il e w i
el = H ) fen]
] —
o|< a ! 6.00 6.00
LD0io = — 2.20 2.00
AR <o 2.00 180
AR 0|5 1.70 150
H | ol|< 150 1.30
w8 | He b P 050 050 050 050
ks NI
$fin ’ by
X 'm" b , — b : —"]
L o | 40 2 g B g
O / \ g T - T
=
K 9
'/W’_‘M . Eé RN o O RN .
BEER 6 1SONSDIP ic B BEER ¢ 300 E)A (S HEfR \#itr 6300 GXDIP \ o BE ¢300 GXDIP
= 2 = 2 ) e :Jg :3?[[]][? EE)](I?DIP BEB% 4300 ADIP, %% $300 ADIP
e & 450 PEP i 3'F7k 6 B #50 PEP
= ME® 650 HIVP
A BEAAEHRRIE ¢300 GXDIP L=263m (X&) .,
d wxE ¢300 ADIP L=263m
RexBEHAZWETLT 6200 L=257m ¢150 L=19m
TEXRBIARAME
I=s T#®Y EHI7TE (B%) (=34 R BEERES A EEsehE IBRH | LITREMR e Al=125 1R 72|43 A®8 DM
ATE 1.0m ny§90.2m3 B (MrEgDA%EM) |13m| RC-40=20cm | As®H=5cm | KrRL A RC-40=25cm BEAsEN=5cn | J&IECTHRT | FEK
BI=E 0.8m AA§910.1m3 E=1p] 8m [ RC-40=20cm | AsEBX=5cm | Rt A RC-40=25cm B4AsEE=5cm | A&TECTHT | FEX
CI= 0.8m "Hk90.1m3 E=1p] 2m [ RC-40=20cm | AsE¥=5cm | R+t A RC-40=25cm BY&AsEK=5cm | J@ITECTHT | FEH




